2 /N
E 5 7iNAN

a7

|
o
L_a

la

G|

{

SR
O H

N

T Hi g/

—ELa N
Sy
J)\\A

—1

/

}:E

gl



N
THZOENE RASTTHIR A BT 2 T 5

PRk 204 5 R T M A AR I@IE AL B = D PRI, IRITED DL ZAITL D,

(AR T5)

F1o AR PROBET, MARHTNEN3,600 THEEDD,

2 RN T ROBREAD Ky K MLy TEORHFIT, [H1R RARH TR ICES,
(R H PR OB )

2k WHHTEOFMHAEDRFIT, LEIISCTHRMTHIENTED,

WRk2045 H 28 H

G
f



5 e " . .
. (BN FH)
% E &
14 # 4 K O & #H
- : - 300
2 i ¥ s
| v = 3,298
3F Iy ~
1 ¥ S il Ey |
2 ME N 1
ﬁ - : 3,600
} Hj (HAL: FH)
" E & H
1 & W %
1 B ® B & 324
2 & 2 "
S 3,226
3% s %
a : 2 50
#ﬁ : - : 3,600







AN A v B - R Bl B M F
1 ¥adE
LN Cfific: F)
K KB E TR BE | M FEE T HE M I L
17 # & kK v A #H & 300 0 300
2 JoE x & 3,298 0 3,298
3 I A 2 0 2
% A = 7 3,600 0 3,600
e (oif: 1)
KAEETHRBEOMIENR
K KREETHE | AR TR g Feo® MR —
[ U 3 4 Z DA
1% % ¢ 350 0 350 98 252
2 F % 2 3,200 0 3,200 3,200
37 fis # 50 0 50 50
% t = i 3,600 0 3,600 3,298 302




2 W A
GR) 1 &S
(1H) 1 4N NEHE (HAN7: )
iy =T in s Eﬁ =
H K H E Aij JE S % N % = A
1 & #H 4 300 0 300 iR C iR 300
it 300 0 300
() 2 [EHEZXH4
(IH) 1 [FEEAEh4 (HAN7: )
| e o i i o
H K AE Hij E e o % N % %’E AR
1 BOH B & 3,298 0 3,298 [ o 4if B 4 3,298 | A A BIE AL - FAEIA & B 4 3,298
it 3,298 0 3,298
() 3 FEIXA
(Ir) 1 7E4&FT (HAN7: )
| e - i i =
H Z NN S JE [Z % N Y !
1 & F T 1 0 1 FASH] T 1| FEAH] T 1
&t 1 0 1
(H) 2 HEA (BN FH)
it 5 ite s Eﬁ =
H AR ¥ 2 % N — it
1 M A 1 0 1 MEN 1 HEN 1
H 1 0 1




) 1 BB
(IH) 1 RHEHE (KAL:FH)
AAEFED RN ER i
H AR | IR Heg: ¥ o® MR , Bl |
#lmﬁ N I\ (>H1
e 2ol & TR X7 x|
1 DikiEE 262 0 262 10 252 1 R 198 | 2 5 198
9 ikt 54 | 18 54
11 FH%E 10 YHEESHE 10
2 FHRE 88 0 88 88 11 EH%E 30 HEESL 2 30
12 %%E 46 B1E EM 46
18 i g A2 12 {5 o Bl A\ 2 12
B 350 0 350 98 252
GK) 2 H¥EHE
(TH) 1 FEHEEE (KA TH)
AAEFE DR R i
H ALEE | R Heg ¥ oE W OR T N 7 H
AREie] 2ol s TR X5 )
1 FHEHAES 3,150 0 3,150 3,150 13 ZEFtk 3,150 ELEEETE R E L A0k 3,150
2 JNHATEE 50 0 50 50 11 EHE 50 THEESL 2 50
&t 3,200 0 3,200 3,200
() 3 Pt
(IE) 1 TH#E (HAL:TH)
AAEFE DR NFR i
H ARERE | A Heg ¥ ® MO P N H B
ARxiie Zom | R = 2
1 Thw# 50 0 50 50
&t 50 0 50 50




= AN
* I~
=
=

B

AF

i M A



W T OB OEE M
GR) 1 HEE
(IH) 1 e
Eﬁ EF 11 EF i =
H X4y Vo ARAEJE AR 5 1 A A
1 SEEEE 262 262 0 262
1 Rk 198 198 0 198 ZE#WI  6,60019 X6 X5 198,000
9 JirE 54 54 0 54 ZEkE: 1,220/ BERE) X 2 A X 5[] 12,2004
ZEfE 8,360 (Hr) X 1 A X5[H] 41,8001
11 FHE 10 10 0 10
(THFEALE) (10) (10) (0) 10)| A PHpma LI 10,000
2 FHRAE 88 88 0 88
11 FHE 30 30 0 30
(THFEALE) (30) (30) (0) (30) FHHE R HEBA L (2 —, SV —HKE) 30,0004
12 %5 46 46 0 46
(E{EERE) (20) (20) (0) (20) | BB 20,0004
(FHeeh (26) (26) (0) (26) [ #RIA TRk 26,0004
18 LA 12 12 0 12| & EEIER 11,500
it 350 350 0 350
() 2
(TA) 1 FEHEE
gﬁ EN 11t HEN i B
H <5 o AR B4R Fhg 5 B
1 FEHRER 3,150 3,150 0 3,150
13 ZEEEf 3,150 3,150 0 3,150 [Fa A e i & &tk 3,150,000
2 SRR 50 50 0 50
11 FHHE 50 50 0 50
(THFELE) (50) (50) (0) (50) | 1: A G BHER T 50,000/
#t 3,200 3,200 0 3,200
(#) 3 Tk
() 1 7wt
ﬁﬁ FE =11t FEF i B
B %75 o~ RAEJE RIAEE Feig F A
1 Tt Diglir- 50 50 0 50
&t 50 50 0 50




